
Table 1: Fourier Transform Table

No f(t) F (ω)

1 e−atu(t)
1

a+ jω
a > 0

2 eatu(−t)
1

a− jω
a > 0

3 e−a|t| 2a

a2 + ω2
a > 0

4 te−atu(t)
1

(a+ jω)2
a > 0

5 tne−atu(t)
n!

(a+ jω)n+1
a > 0

6 δ(t) 1

7 1 2πδ(ω)

8 ejω0t 2πδ(ω − ω0)

9 cosω0t π [δ(ω − ω0) + δ(ω + ω0)]

10 sinω0t jπ [δ(ω + ω0)− δ(ω − ω0)]

11 u(t) πδ(ω) +
1

jω

12 sgn t
2

jω

13 cosω0tu(t)
π
2
[δ(ω − ω0) + δ(ω + ω0)] +

jω

ω2
0 − ω2

14 sinω0tu(t)
π
2j
[δ(ω − ω0)− δ(ω + ω0)] +

ω0

ω2
0 − ω2

15 e−at sinω0tu(t)
ω0

(a+ jω)2 + ω2
0

a > 0
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Table 1: Fourier Transform Table

No f(t) F (ω)

16 e−at sinω0tu(t)
ω0

(a+ jω)2 + ω2
0

a > 0

17 rect
(
t
τ

)
τ sinc

(
ωτ
2

)
18 W

π
sinc(Wt) rect

(
ω
2W

)
19 ∆

(
t
τ

)
τ
2
sinc2

(
ωτ
4

)
20 W

2π
sinc2

(
Wt
2

)
∆
(

ω
2W

)
21

∞∑
n=−∞

δ(t− nT ) ω0

∞∑
n=−∞

δ(ω − nω0) ω0 =
2π
T

22 e−t2/2σ2
σ
√
2πe−σ2ω2/2
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